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Please make sure that the printed pages in this question paper are 12 in
number and it contains 23 questions.

FHUAT ST IR o b 39 U UF H qfad IS 12 dAT U7 23 % |

The Code no and Set on the right side of the question paper should be
written by the candidate on the front side of the answer-book.

e UF @ qlfed 8 @l 3R AU U dle FaR TAT A &I B IR
gRAST & &0 U8 WR ford |

Before beginning to answer a question, the serial number must be written.
SHUIT U BT IR oIET Yo B A Ugel YT DI HAlD 3aey ford |

Don’t leave blank pages/pages in your answer book.

IR GRABT & 919 | @retl g1/ 91 9 8IS |

Candidates must right their Roll Number on the question paper.
TRIETeft SO et FaR U WR ey ford |

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

SUIT Yl BT SR o 9§ I Ig GHARAd R of fb ye9 9= gl 9 wEl
2 W & IWId 39 GagI § BIs A a7 WhR 81 fhar ST |

Except answer-book, no extra sheet will be given. Write to the point and
do not strike the write answer.

TR YRGBT & ARTRET DIy I e T8 el 37 MaTIHATIaR &
o 3R foren STR 71 &Ic |

General Instructions:




b)

All questions are compulsory.
) e arfard € |

This question paper contains three parts A, B and C. Part A is compulsory
for all the students. Candidates have to attempt anyone part from Part-B
and Part- C of their choice.

S UTIOA @ O AN § 1 § UIH | 9N 37 Iffard 7 | uklereft rae
STOT ITTAR 9RT § AT 91T 9 H | BIg U AT T N |

PART: A

(NON-FOR-PROFIT ORGANISATION & PARTNERSHIP ACCOUNTS)

(TSI WRJATY Td AR @)
Write any one difference between sacrificing ratio and gaining ratio. 1
RN U Td o™ U1 U H DIs T iR ford |
A, B and C were partners in a firm sharing profits in 3: 3 :2 ratio. They

admitted D as a new partner for 4/7 share in profits. D acquired his share

equally from A, B and C. Calculate new profit-sharing ratio. 1

T & g A UPH BH H o™ BN BT 3 : 3 : 2 H gicd 8Y WEER T |
T2 S BT o H 4 /7 Y B U AR 91| D AT R A, B
TqH C I 99 WU ¥ UTGT BRAT 8 | BH P Y o™ BT AJUTd PI IO
BHIFTT |

What do you mean by dissolution of partnership firm? 1

EER] BH & THUT W AMYHT F-T U 272

What do you mean by specific donation? 1

faeIy g9 9 31U T WS 27

State any one difference between the dissolution of partnership and
dissolution of partnership firm. 1

e & FHUT Ud AEER] BH & JHYT § dlg Uh 3fdR T |



What is the nature of income and expenditure account? 1

M UG I Wl fhd UhR HT Wrdr g7

How will you deal with the following while preparing the final accounts of
a non-profit organisation. 2
g fHfaRad @I Udh famMaRl ed & ifaw @l # fhd ueR
fergTa:

Details Amount (in )
Match Expenses 10,50,000
Match Fund 4,00,000
Donation for Match Fund 2,40,000
Sale of Match tickets 3,60,000

L and M are partners in a firm sharing profits and losses in the ratio of 3:2
with capital 0o 2,00,000 and X1,00,000respectively. Show the distribution

of profits in each of the following cases: 2

L 3R M U% HiZERI BH H oM 3R 8 &l 3 : 2 § dicd gU AislaR
g | S9HT Yol A 22,00,000 UG 21,00,000 & | FmferRaa aRRerfaat #
RIGIECTRCEINE RCa i 1Y

1) If the partnership deed provides for Interest on Capital @ 8%p.a. and the
losses for the year are X 50,000.

e AERRT IJad & AR Yol W AT 8% atsd g iR a¥ & IRM
I 250,000 2 |



10.

i) If the partnership deed provides for Interest on Capital @ 8 % p.a. and
the Profits for the year are ¥ 15,000.

IS WiSRRT Y & AR Yol IR AT 8 % a1f¥ds & AR 98 & IR
ST 215,000 & |

The firm of Ram and Mohan was dissolved on 31/03/2019. According to
the agreement, Ram had agreed to undertake the dissolution work for a
remuneration of X 2,000. Dissolution expenses were 31,500 and the same

were paid by the firm. Pass necessary Journal entries. 2

M QI AIET B BH BT FAYT 31 A9 2019 BT 8 TAT| I B AR
M 22000 U & del FHUT & BT B R B @ oIl TIR &
AT | FATUA & @ 1500 BT (ST YA BH gIRT fhar 1T | 9w
ST mfaftet ST |

A’ and ‘B ’are partners in a firm sharing profits or losses in the ratio of 2 :
3 with a capital of 340,000 and 80,000 respectively. Each partner is
entitled to 10% interest on his capital. B is entitled a commission of 10%
on net profit remaining after deducting interest on capital but before
charging any commission. ‘A’ is entitled a commission of 8% on net profit
remaining after deducting interest on capital and after charging all
commissions. The profits for the year prior to the calculation of interest on
capital was 260,000.

Prepare Profit and Loss Appropriation Account. 4

A 3R B Usp HZER BH ¥ &Y B Bl 2:3 § gicd 8Y WiZAR 8 So]
Goil hHeT: 340,000 Ta 280,000 2 | UI% AISER 3 Yoil TR 10% d1Nd
R W S AT bR BT BRI &1 B BT g oM H I Yol TR TS
S & qrg a7 [l |1 HHIE DI TS I Usdl 10% S f&gr ST
21 A D YE I R Yol R 1S M & 91 a9 TdR & HHIRE




11.

12.

TS @ d1a 8% HHINM &A1 ST 2 | Yol UR TSl &1 ITUET R4 | g4
BH & T 260,000 & | AT BN FHRISTE QAT §49TC |

How can we calculate the share of profit on Turnover Basis at the time of

the death of a partner? Explain with the help of a suitable example. 4

fpdl FieeR & 9 & §9Y [dhd & YR R I9d oMl & R Bl
T g IR Bl SITUl SfId S8R0 S IRAT B |

A and B were partners sharing profits and losses in the ratio of 3 : 2. Their

Balance sheet as on 315t March 2017 was as follows: 10

A 3R BU® % M BN &I 3 : 2 H qicd 8¢ ASIGR © | 31 A6 2017
&1 ST Rfa faawor fraR &

Liabilities 3 Assets L4
Creditors 70,000 | Bank 40,000
Capital A/cs Debtors 1,20,000

A 1,50,000 Stock 60,000
B 80,000 2,30,000 | Furniture 50,000
Goodwill 30,000

3,00,000 3,00,000

C is admitted as a new partner on above date. A surrendered 1/6" of his

share and B 1/3 of his share in favour of C. Goodwill is valued at



%1,20,000. C brings in only ¥ of his share of goodwill in cash and

%1,00,000 as his capital. Following adjustments are agreed upon:

C @l 97 IRIER & wU § Y49 foar ar| A 3 04 3 &1 1 /6 91T
AT B 7 U ZRA BT 1,/3 W & C forg @mr faan | &fa &1 qedid
%1,20,000 fHaT AT C U4 R & TIRT BT BHadt M 9T 8 Adha
SR T 3R %1,00,000 YT Goll & wY H olbx AT | FreforRead
FHRGH & fory |gdfa gs

) Stock is to be reduced to 356,000 and furniture by % 5,000.

FIdh DI 256000 TH 3R HriteR & oI Pl 5000 H HH HIAT |
1) There is an unrecorded asset worth 320,000.

320,000 I &1 T AURT BT YRl # 81 fe@rar a7 2 |
1)  Outstanding Rent is %15,000.

ared fh_maT 215,000 2|

Iv)  Creditors increased by 210,000.

SFERI & oI H 210,000 T gig AT T |

V)  Prepaid Insurance is 32,000.
gdest 1M1 32000 € |

You are required to prepare Revaluation Account, Partner’s Capital
Account and the Balance sheet of the new firm. Also calculate the new
profit-sharing ratio.

3 Y¥Hedih= Wl TSGRl & Yol @id Ud g BH bl R fdavor
TG | AT AT TS SUTe bl AT IO Y |

OR



Why are assets and liabilities revalued at the time of retirement of a
partner? Explain the accounting treatment of revaluation of assets and

liabilities at the time of retirement of a partner.

® YTHcAID DI Wl YR I&TeRY Afed TS |

PART-B

(COMPANY ACCOUNTS & ANALYSIS OF FINANCIAL STATEMENT)

13.

14,

15.

16.

17.

(@aht @ e fa<ia faazon &1 fagetyon)

What is the difference between Share and Debenture? 1
39T UG oo H T SR 8

Can Securities Premium Reserve be used as working capital. 1
T gferfa TH &1 9T SRR goil & ol f&ar 1 dahdr &7
Name any two items which can be disclosed under non-current assets. 1
R drwrfers aREuRy e & @R M arelt f&< & 7l & W
ferfag |

What is Vertical Analysis? 1
oY faeeryor @& 8?2

On 1% April 2017 Sunrise Limited issued 5,000; 8% debentures of X100
each at a premium of 10%. What will be the total amount interest for the
year ending on 31% March 2017. 1



18.

19.

20.

21.

22.

1 3 2017 Bl FRIg foIffIcs = 3100 dTeT 8% ZROT U 10% WEAIH WX
AR fT | 31 A< 2017 &1 FHIG B 9Tl 99 6 oY SROMIHl TR Gl
TS BT T B |

Debentures can be issued for cash only.  (true/false) 1

FUF Dhdel ddhe & fory ifia fby S dad €1 (9 /3 a)

Write any two advantages of analysis of the financial statements. 2
fa<ia fdaRoT & faveiyor &1 &g a1 o4 forRag |

Z limited purchased for cancellation 2,000 of its own debentures of 3100

each for %1,86,000 and 1,000 debentures for T 95,000. Pass necessary

Journal entries. 4

Z fafies = 3199 2100 dTel 32000 0T UH 21,86,000 # 2T 1000 =0T U
395000 H V€ B & folu WIS 3Mavde - ufaftedr Hifory |

From the following information calculate the Inventory Turnover Ratio:
FRfeTRad FaTmall | 3fad JIurd &I ITOTHT -

Revenue from Operations X 2,00,000; Gross Profit Ratio 25%; Opening
inventory1/4™ of the closing inventory. Closing inventory was 40% of

Revenue from Operations. 4

ATl | I[OIG %2,00,000 Hhel M AT 25% URMS el sifoH
efaar &1 Va2 | sifaq vefoar demeq | o &1 40% 2 |

Calculate Cash Flows from Investing Activity from the following
particulars: 4

frforRaa faaron &7 werdr 9 e wfafafoat 9 A<l yarg &1 T

N

P




Particular 315t March 2017 | 31% March 2016
£4 %

Plant and Machinery 8,60,000 7,20,000

Information:

23.

) Depreciation charged during the year % 85,000.

TY b SR 285,000 P BT < TAT 1T |

1)  Plant and Machinery having a written down value of %1,10,000 was
sold for X 1,25,000.

21,10,000 eI & FIF TG HL=RI Bl 31,25,000 H o= faam |

A Ltd. makes an issue of 10,000 equity shares of X 100 each, payable as

follows:

On application and allotment 350
On first call %25
On final call %25

A shareholder holding 400 shares did not pay the final call and the shares
were forfeited. Out of these 300 shares were re-issued as fully paid at X 80

per share. Pass necessary Journal entries. 10
v fafics = foffics = 2100 dTel 10,000 |HaT 3 FRiHAT By | <
fereTgaR <7 €

MG Ud ITec 350

UH AT 325

3ifaq == 225



T IR 7 Y 400 T UR AT AT BT JIar Fal fhar iR Iqd
372l T 3TUBRYT HR o1 TAT| 79 | 300 AT BT 280 Ufel A BT &R 4
g FRIAE @R f3ar 73T | Siawe SeRel gfafsedrn SBifom |

OR
Answer the following:
f=feRad vl & SR <

) Describe the purposes for which a company can use the amount of

Securities Premium. 4

I I DI ARAT BIY 5D g HuAT ufcngfer MiAms a1 i1 &1
SR TR FH & |

i)  Explain the process for the allotment of the shares in case of over

subscription. 6

e & Rerfar o 37 & e bl & UfhAT BT I B |

PART -C
(COMPUTERIZED ACCOUNTING SYSTEM)

(dYchepd d@i®)

13.  Write any feature of Computerized accounting system. 1

HCHT GIHT TF B BIg Y fa9rvam forray |

14. What is Data Validation? 1

3Tl ATNHRIT T 272

-10-



15.

16.

17.

18.

19.

20.

21.

22,

23.

How many blank worksheets are shown when a new workbook is created?1

9 Py A5 BRAYRKIDI 9975 Sl & al fhdd R drRiuze fawmy Sid
g |

What is the use of FV (Future Value)? 1

FV (W= qe) &1 a1 U 27

SQL stands for..................... 1
SQL BT YOI BY ..o

A Is a pictorial representation of data. 1
Lz el B =TS TRIAHRT 2 |

What do you mean by DBMS? 2

DBMS ¥ 39 T AT 87
How graphs and charts are useful to take business decisions? 4

AT AT o9 & U6 3R 91 {59 R IuIRT 87

Write the short note on the process of inserting and deleting cells in

spreadsheet. 4

Trec d§ Aod B Sl 3N g &I Ufshar IR gferg e ford |

What is referential integrity? 4
BRI SSIRCT T &7

What do you mean by Computerized Accounting System? Explain the
advantages and limitations of CAS. 10

BRI Il GOl H 31U I FHSIA &2 DY hd olich YOIl
P AT UG HIHRN BT qui DN |

-11-



OR

Define the term Transaction. Elaborate with the help of examples how the

transaction will be shown in chart of accounts by hierarchical grouping?

oF S U B URWING N | SR & 9 fIRga arar a6
U AR §RT TTdl & dIc § oiFiad $d gy S

-12-



